N of simulated tracks vs transverse vert position

10*

10°

10?

...............................................

| N of associated tracks (simToReco) vs transverse vert position

10*

10°

10°

1

o

...............................................

T
+0

T
—¢-¢+
o
-::t:%
.
-
Sa
o
e

| N of simulated tracks vs z vert position

10*

10°

10?

10

E L
L : RS
: Dow o
L ~
I : - e
Lo e P TR R PR
E A "
E ) N
h ¢4 +
Lty +ﬂ+

DOM DisplacedSUSY _mKFT BDT_

0.95

1072

107 1 10

| N of associated tracks (simToReco) vs z vert position |

1

0.95F|

b
: L
-
i
o
+
L
]

0.9E
1072

107 1 10

[N of simulated tracks vs.simPVz |

10*

10°

I S A S A A,
E : : T : :
N : " : :
I : e em :
[ : : N : :

: e ] : :

: : - :
o e
E . [y E .

E Lo - :
E : -
[ - : :

; HE

w* : :

E B AR TEEE
E : Do
N H A :

0.95

=30

||||I|||5u|||||

il §||||||||g||III||
il

—20 -10 0 10 20 30

| N of associated tracks (simToReco) vs. sim PV z |

-+

0.95

20 =15 =10 -5 0

5 10 15 20



	Contents
	Page 1


